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Cluster: 0225 ptr; resid: 0.20; r/c: 24/81

x.range

upstream meme PSSM #1; e=12

1 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 11

x.range

y.
ra

ng
e

upstream meme PSSM #2; e=6.8

1 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 11
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19708
42015

27976

35680

13243

1769

20424

20445

27923

33955

35036

37543

43473

43544

44288

44626

44724

45385

45630

45997

46001

47178

47650 54028

string −500 −400 −300 −200 −100 −1
45630−0.01
20424−0.05
27976−0.10
37543−0.13
19708−0.14
44626−0.15
47650−0.31
42015−0.42

1769−0.61
45385−1.73
43473−2.15
20445−2.79
44724−3.06
35680−3.12
47178−3.51
13243−3.74
44288−4.07
33955−4.08
27923−4.41
54028−7.01
43544−8.51
35036−9.15
45997−16.32
46001−16.32

log10(P) upstream meme1 2 log10(P.clust)=−3.83; 24 seqs; 24 uniq
c(0.5, 2.5)
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